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Japan’s greatest problem will be the aging society. The average age of the Japanese
citizen already stands at 45, and by 2050 it will be higher still. This will place a huge
burden on young people, but the most serious aspect is that Japan will lose its
competitive edge. As a country of few resources, Japan relies on innovation to survive,
yet people become less innovative as they grow older, and Japanese companies will lose
out in competition with those in younger nations. To make matters worse, the
increasingly aged voters will become less and less likely to vote in reform-minded
governments. (102 &
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